SOEMIRFEE (np) BIKGEHEHRMMFR

LA YRR

(NEERF REFFRIETH, AEE 24 010021)

W
W

FE: KA EIGEE R AT 418 (n). 4394835 (np) WA AR R At 45k 335 LEF £ F3UGEn. np
ayiFik ey ek b, ARIE CBUF TAERE EA L CBRRE” RENEBHBEIFRAAIRIE, EEREMN
BENFOKRE E, FRATE ey 7 XaFiRiEnpay 5 & 55 AN BATR A 69 R oF, R3¢ T A Xnpitdt
77 B 4438 ik e i E A

KAEIF: BGE; REE; n; onp; HEHALN;, RENEEF

wESE S H059  XAARRA: A

P E MWEITUE ], A4 1A A SRTE 5 e SR AN 1R 1) SV W R Jl 1) 1 IR R A B 2
= ARG HA AR BN . LA R SRS S BRI . KL
K DOETEIRA TR 4 W A4 W R AT SIS T R 0 R o 5805 TE AL TR0 s Th B A &
1w O & L (E K St PRI SO S U e A G AT E L (apS IR Tl R R Sa S o
MITFSko AL, DUEFNISE i 2 1) 44 1) R T RO LT 9 LA KRB R 4 M I BIE 5, — B —
N PR AR EFHRBITT, R TDEEPE, R T R0 PRI - Se i DS
BRSBTS T DUSEXE R LU S0« DUSEUUE ol 1 (1 2 B8 25 0 L AT T 1
PRI A -

MBE np N ERALSAGOUE, KRBT LA A M Ingsf “Fr” ity A4,
H G R S P AN 2R ASCRDGE X LR np (5 TE oA T B sAL R (G [T, #8305
A 9% np 45 T PR VE R 3 i)

1. Mgt np

KEBHEE n i “A11. &, M7 S (@) MRk Nz np 2 npbar (4417 1 #E
FvE) BN ABUR SCERTE RV, 2800 L UAT J UM gk 2824

(1) np->In g<fi1> = $. B &E R =110, %n. 8 XK= A, $!=%n @E 5,$. 2 ¥ (=Yes

=> NP(IN/n F/g)

X PCEROUBR S T “A1” BIIRAS n BE XS N7, MHARSR “REC X
ANEME. N “=>7 TGRS TE N . =R, BUE AN AT T e
(¥ np, FESE BT T LU A4 E (NP, (H551E4 5 (N) JEHERE R
SISy hRidoh FY o 298K, il B n DAREAE o AR I] Ji 12 7 B2 50000 B o ol

SIAIE—AY, 1 NAR, -D, -S, -CVD|-CUD %547 JLAS, HAEX B I v LARR E A A4
FEANAR, A —NEUE, NARESETEFBEATLUES, MAaTLpIrs, JATX BT



M TT G PrEl, TATER SR IEDGER) “7” BIER T NAR o 355 SRR A AR
WRIDGE “A117 R AR D SN LI i) i 1) S ik

$$ 11
*{g}g $=[]
=> F<NAR>
(2) np->In g<#>

POE “F7 MNTZHER “-TAN|-TEN” o “-GCI|-gCl” &R Rx “HH1%HYI
N7 A7 BIA BRI Ay o S ARV S L LR R A%, BB B T E A
B0 A AL U] RN o3 1R 1) RUBEA T AR Bf (R 5, P LA A G 4 N AR B4, A et —
AT R ) L

(3) np->lv g<tk> =:$. N HB 4 k=1 1]

=> NP(V/v IN/g)%V.TTT=TEMDEG,%V.CAG=CAGODO

KIEPAESIE (v) 0 PR Ha R 1 3B R0 B JFG 5 v (R A R S U (1
BOSSE, DUBSNAIN P RSN E S s B AT DU OINP, i HIXANNPAE ANV
FI—NNFIE . AN “%V.” FFURZXVIET IR, R B VR BRI AR AT 2N 4 Bl 45
FEIEX (TTT) 2 —1Eshia (TEMDEG) MWIRFERE. (CAG=CAGODO) . i%#N|H
PFUBEA M 40 B “M” A GHE, HEEERITERN “CINAR”

TEDCE R ANAES ] ENEz k7 M SavE, War R4, BRI (a) JF b
R AR R o BT ARH R 20 A R O B T DA A -
(4) np-> In g<tt> o §. A i 4E Ry =]
=> NP(N/n IN/g) %N.CASE=HAR  /*BuiaE*/
(5) np->la g<tt>: $. 14 45 k= # i)
=> NP(A/a IN/g) %A.CASE=NER  /*5{*/
R “%N.CASE=HAR” . “%A.CASE=NER” 4} 5l 27~ #4735 26

—NRIARFE ARG A ks I g XA, “Buatk” o “—85WE”  si#iEmRVLVS
TORO-YIN CINAR #1 NIGEDULTEI CINAR .

2. “JF” F4ikinp

“PT AN EBUR SCRRP B T Wl “Pr+v+7 o “npriitevT o “npHfiTev+)”
SEghRy, PR L CPrdTHEE L CRTRRSEAR BT A T ke BREAT

R 25,

“PTT TEik np MTEOLLLERLE 2%, RONAEDGE R “ B 5 AT A 44 ) 2 B v i i 2 i)
(A, (ERR R I 58 ot 1 PR IR SR P WIS 42 T S AL T A0 I 2 [ S A, 2 SR 2 40
A, WaekERE, WRRNZ AR, BAEBREIELEE. XA “Pr” 5 )ah
Mshia Ao, b, WREBOESNE U, B RUE, WAREPOESE “IiE” i,
BRI A% DOESE BRG], AR “Pr” FHri 4w g Tk, sBeE Bk,

AT AN EE, ARDGEE “ P KREAT HSEAR, HAESEN TE R A AN s
7 SRR SR (1 B S A R A AS T ST o AT TIUAE (R AR B {202, I L] [ 4]



RIS RF< >, W=>F< >, BHRZ A “F007 , AT “O7
3. BRE4 M np

DOBHRG S50 np F247: AR A, JCIEW A S AR AT 5 =R G R4
B T LA np Flnp, B ATLLE vp Fl np.e 5500l S R REAT AR JLAE

(1) np->Inp c np :: $. N FBL=TEA 8.8 F2 1851 =%c, Y%oc JE MK =12, Y%oc.yx=F1| R, % %np.
P 4l f =~k 1,

IF %np. Wit =2 1, % %np. Wil gf=E " THEN %np.&if.cpcat=%%np. &
i .cpcat ENDIF

=> NP(NP/np C/c INP//np)  /*[E F5 JESAFSNAZ TAF*/

X HPERE BTG B (e B2 A ARid 1)) BUERR G Xnp K HH . “%c.
HEAR=E " BRI IR R AR P R (R I&R], Bt AL R A, TIANRER A
SeE B WM R (R, IR HL T A “%%np. W EREE R =~IEE T RR I S, A
SANp ARERIR A . ERIE RIS T NSRS IR RS R IR AL
R[N EAIRUR 2], AR UN AP AN N “IF” TRIGE R A A A, BB
TIBIET S np ] BLZE T np,  Han “ B ERTEHAMIME TAE” .

ST O DB R RS AT DX, BRIF SRS ASNP 5 — NP2 Lo, Y
HEA T VE AR SN SE K R RV I o R A AN R TR 3 AR R

(2) np->Inp np == $. A BB EEFI=I A, Y%onp. A 45 K =3, % Yonp. PN 71 45 ) = L]
%np==%%np @i XK @WNH4iH @i @fRid 7K @ccat @47

=>NP(NP/np INP//np) %NP.CASE=NER/*EA AR ARG £ x%% Rk
*/

XA RIEARAC A np i — 20 o AIXASEEIN o] LA, % 02 1A 8 e b ic )
156 A5 2 (1 B 1 4% 1 2 DU e M (1) = S SRR U A 3508 1 17 J5 7 T mp 1 — & Jeg 2 A AH )
(%np==%%np) , XLFMH L. “EXR” . “WEBEH” . “&iETR7 . “ANET
S N VR VA =N

EAFPR R, IR TR A R AR G R S a5 R A1, EUACIRI M . X, Jk
AEREL T AN o FUME e, SRABT DX o34 JR RUUUR RS B8 RN (K0 535, g 4 SR R w Fy 3k
A UGS RN ERICAR RN DX 23 T, ST U RN DR 2 A, RIMEEVE R E - 72T AR
WA SRR DL N, REA WA ARER 2B KR, REH LA “EX
FHT MR E S N, RIEA RS Anp. KBRS CINZ MR Z . HH
B BEEIXFE . B G apAMvp R Ikt 2 38 2 [RIAE 1 ) . T E R “ T 5AE
(K373 M A 45 2R «

BREE

MERGEJILTEN-U ERDEMTEN NP:9259344 [ 5 i 15 45 15 20 25 :NP] {} (NP: 9241760 [ 5 1 i
W iE 4y 25 NP, CASE: HAR] {} ( IN: 9463424< MERGEJILTEN> [Z# 5 iEid26:N , YX:
MERGEJILTEN, NSUBC:NCONT, NPLUR: D, GENDER: FEMALE, CASE: HAR] {})! NP: 9244272 [5#
Wi EES S NP1 {} (IN: 9452544< ERDEMTEN> [Z#75iEia]2%: N, YX: ERDEMTEN, NSUBC:
NCONT, NPLUR: D, GENDER: FEMALE]{})) np: 9259344 [ViEHH &4 np, WIBE5H kL&
SE ] {HR L cnp<EE D, T np< L ZK O} (np: 9241760 [P R 1E 732 tnp, W45« L




1] (e [, 0B [} (In:9463424<E 50 [PUE 25 :n, 210 72K na, $UE 44 YES, MMA
B AL 44 | AN, 1T 44 YES, W78 YES, J5 4 YES, ZIRiE :NO, I &3 :NO, i 2K A, yx: &
XK, bx B, A2, W B 5K GERK Y (1)) Inp: 9244272 [P E 722K tnp, P EB45H
B ] (i [T, th0viB: [1) (1n:9452544<234 > [IE1R2K i n, 438 T2 tna, MR AN | 47,
H % NO, ARG YES, 38 X5 B0, yx: 238, bx: 28, 357102, W7 2 | 3] GESsyr: (1))

MERGEJTILTEN-U ERDEMTEN NP:9260624[Z¢ B8 NP {} (NP: 9241760 [Z¢
W iE B 1B 4> 2% NP, CASE:HAR] {} (IN:9463424<MERGEJILTEN>[ 2% & i& ia 25 : N, VYX:
MERGEJILTEN, NSUBC: NCONT, NPLUR: D, GENDER: FEMALE, CASE: HAR] {} )! NP: 9244272 (%%
WIBERTES S NPT {} (I N: 9452544< ERDEMTEN> [Z#75iEia]2%: N, YX: ERDEMTEN, NSUBC:
NCONT, NPLUR: D, GENDER:FEMALE]{})) np:9260624 [} &% 1572 np, WHEBSEH: & ] (&
T np<E 5D, HiE np<EE > (np: 9241760 [ AE R E 202K np, RSG5 : 8ial] (B8 [,
diE: [} (1n:9463424<% 50 [GERZE 1n, 418 738 na, U044 YES, MK A7 | 4 |4,
Wi 4 - YES, Hi5h:YES, J5 44 : YES, 4 °MRiE :NO, I I &30 :NO, 18 X 2K N\, vx: L5, bx: L5, &
2, WA B | KT GRS (1)) 'np: 9244272 [V 5 50 15 43 25 cnp, W B 4509« fii ] (58
T[], droiE: 11} (1n:9452544<252 38> [E 2K 1 n, 30728 na, ™MERIT AN | A7, B4 :NO,
HIAR:YES, 15 28 B0y, yx: 8, bx: 223, 3102, DU 22 [ 38 ) GER Ay (1))

MERGEJILTEN ERDEMTEN NP:9253776 [ 5415 r25: NPl {} (! NP: 9241760 [Z¢
W5 A 1B 4y 2% 0 NP, CASE: NER]{} (IN:9463424<MERGEJILTEN>[ %% 7 i id 25 : N, YX:
MERGEJILTEN, NSUBC: NCONT, NPLUR: D, GENDER: FEMALE, CASE:NER]{})NP : 9244272[%%
WIERIES S NP] {} (! N: 9452544< ERDEMTEN> [Z#7h15472%: N, YX: ERDEMTEN, NSUBC:
NCONT, NPLUR: D, GENDER: FEMALE] {}))np:9253776 [V 54715702 :np, N EB45H : A,
0 YES] (g vl : [} (!np: 9241760 [PUHE K5 70 28 tnp, W5 #4) : 5 in], 15 8 B4y, DU
HKin, yx: B, L 1A na, AR EAL NONE] (B 15 : [T, 00 [} (In:9463424<% 5> [
I n, 402K ona, B4 YES, MR A7 | 44 [ AN, 5744 YES, §ish: YES, 544 : YES, %
R B NO, IR B 9] oNO, ¥ SIS By, yx: B bx: TR, 2, W B K, PR
A7 NONE] (JEH2E 2 [1)) np: 9244272 [PUHEFLTE 7095 :np, WIREE K« s, 18 S8 B4y, B0
12 in, 210 12K tna, Kb T B :NONE] (7215 : [, H00 i : [J} (1n:9452544< 2435 > [ 5 17
Hein, £ 128 ina, MEET AN AL, 5744 N0, BIAR: YES, 15 S B0, yx: 243, bx: 2435,
522, T 2 |, AR T BT NONE] (8- [11))

REGZAE 4L, Jeft “ L5 oM oE th np, AR AT R 1 e 5K
NP “MERGEJILTEN-U ERDEMTEN" , RJ5 4 /) #7 b £ :inp, B AUAH I Ml 28 Bk 15
ANP “MERGEJILTEN ERDEMTEN” .

(3) np->!np w<"."> np :: §. A FBE5 =1k 5, Y%onp. A B 45 # =72 T, % Yonp. N &5 K=& 1,
$ A5 RIAT 5 =%w

=>NP(NP/np W/w INP//np)

RO A (w) RIS Knp R . I “S. WEREH =177 T ha R x
AR ARV . “ Yonp. N BS54 =3E 1, % Y%onp. N B Z K =32 v 7 1t WIRE A F A o
T JE P Iinp ] Lo s thinp, el “Ahas 400 gRa )7 .

(4) np->Inp w<"."> np :: $. W EBEE =12, Yonp. P 45 K4 =15, % Yonp. P 5 45 A4) = L],
S5 A5 =%w

=>NP(NP/np W/w INP//np)



AR A FR AT IS S np o 5 b — SR RIANR] 0, W05 55 B P np
JERAR], KRS W .

(5) np->Inp w<", ">g : $. N IFLEI=S, %np==%g @& XJ5,$!=%np @K £1,$. L !
=Yes,%np. AN #4514 = ] 1A

=> NP(NP/np W/w IN/g)

R AFUAE I 2 —Dnp Al —NEZR (g) AIAR sl 5 R M A R np i Bt . 2
SRMINAT E e s BT T (¥Inp A T (K9 Q2 T8 SCRIEPE A R, Herb RirIsinp ] AR #da) € “IK
K7D, WaTRURECE S (i KRR AT D

(6) np->Ivp np 1 $. 9 FB G5 HI=IDELr, Yonp. P4 5 45 K= B 5], Yovp. P 5 45 A4 = B 1]
=>NP(NP/vp INP/np)

X e KT — A vp Rl —Anp Tehs i A A4 eI A np RN o 5% 7 75 U 4 B vp
A T NP o I 4 B0 FT LA 2 S iy "B 26 TEGEGEBURI SIVDAN HQLBQG_A”,
R EER) A -

NP/np(NP/vp(/v<iz#i>)INP/np(/n<Hil Hi>))
4. ®HEM np

FEDGET, i np RECEALUR UM S0, R #iid i — gl A
.

(1) np->vp Inp
gL RS SPIR SSITR

(12) np->Vp Inp =2 §. )4 AR HI=A11 £ 1. 52 i =%6vp, 8.1 Lyifi=T%np, %np. 1 i =
FE 1, %Vp.yx=~ 4t

=> NP(VP/vp INP/np) %VP.TTT=TEMDEG,%VP.CAG=CAGODO
(1b) np->vp np:: $.FRLEF=Fi 5 e T, 8. TE=%vp,$. T iE=%np, %np. A 4 45 #4 =
3], %np.yx=1& 31, %evp. P i 45 )= HL1], Yovp. yx=1t £}
=>NP(VP/vp INP/np) %VP.TTT=TEMDEG,%VP.CAG=CAGODO /*{i & iz 5)*/
(1c) np->vp np = $. N FBEEFI=HE 75 52 T, Y%vp. 45 F = i, %vp. i 4 =52, 8. 0 1
=%vp,$.H 0 E=%np, %np. N & 45 =20
=>NP(AP/vp INP/np) /*%i4 1 1%/
=>NP(NP/vp INP/np) %NP.CASE=HAR  /*/ &I} 11i1*/
=>NP(VP/vp INP/np) %VP.TTT=TEMDEG,%VP.CAG=CAGODO /* H i BLFI*/

DUE AT MIEhiA RE A€ 1, TRER AT @, telifg “ A&l B B 25350
W ANREEAREMIA ], R Bl BESE. L7 SEshiE T LU ERRE A4 . I (1)
R R4 JEIERUE R — AN Shia fe 5 B i, “Jad=r" rE T LL
HEB WA R RN 5 )7 S5 R KR ] AR 2L @, UL (1)
FERACBE “ A B2 2 XA IR — 25 R ST ERAEIRE, 20 T “%vp. A
ARy =n] 7 X SRR RIVE T . T2 R (1b) B “ A Bi23h 7 4 e “BEY_E



MAHABVD-I CIHIRAGJIGVLHV HODELGEGEN” (H&5#yh: NP/np(VP/p(v<{d &
>) INP/np(/In<iz#lj>))) , WERAIXASHEN R ) “Yovp. N EBEEF=20 7 2 “ Yovp. 4
Fy=5i8 7 B4, Bt A& B “ BEY_E MAHABVD-I CIHIRAGJIGVLVN_A
HODELGEGEN” , WARW A EXLMMIEEL . WM ES, DiEvpinpififa S inp
A DU NP, A B S A —FE, DUBRIvp s il N T 55 1B AP, NP, VP,

(2) np->vp In

np->vp In :: $. N ERATH =R 50 Y, Yevp. N A A = FIA] R B, Yovp . JA 44 =02, Yon. T 8=
2,8, E 1H=%vp,$. L2 iE=%n,

IF %vp. 945 #=237 THEN %vp.32&=~n ENDIF,
IF %vp. 4 845 H= 3, %n.yx=~2 THEN %n.35%i=2 ENDIF
=> NP(VP/vp IN/n) %VP.TTT=TEMDEG,%VP.CAG=CAGODO  /** 3] {}*/

DUE XA (np L5 A J LA U fnp AL, bt fgn, A gnp. AR S
HERLE A — N,

(3) np->r Inp

np->r Inp =1 IF %np. W& =517 THEN $. 455 #=k54 e ELSE $. 945 #4=
N4 ENDIF,S.E1HE=%r,$. F 0 iE=%np

=> NP(R/r INP/np) /* 54645 */

St (R B A4 Ik, BEH AR A4 Bl H A 58 TR I IR Al ZEAR AT Ak, ek
TR TR ARG, — B, AR, W ER. KT BE
BEMINU GER”,  “iXAN i)l ” #H3EENE ASAGVDAL”. k5t A TEE S8 M A
58 ARAA] TR o L TRV R OGRS R A S PR 4T, AT R oo

(4) np->ap Inp
XFRALE A JURF R

(4a) np->ap Inp 2 $. N EBEE K=kt E Y, Yoap. N 5 45 b= F ] | B A PR, Yoap . JE R 1y
=No,%np. /0. PN 45 # =~ 11, Yonp . P 5 45 #4)=H. 0], Y%onp.yx=~Hh,$. & T-=%ap,%ap. &
£=%np,$.F 02 1E=%np

=> NP(R/ap INP/np)  /*Fifg &%t/
=> NP(NP/ap INP/np) %NP.CASE=HAR /* K& {s\k*/
=> NP(AP/ap INP/np)  /*[EH b/

(4b) np->ap Inp == $.14 BEEHI=AL A sl $. 5 T =%%ap, 8.1 =% np, Yap. P HE 45 =

=>NP(TP/ap INP/np)%TP.CASE=HAR
=>NP(AP/ap INP/np)/*#i 125 4% Bk 1/
=>NP(VP/ap INP/np)%VP.TTT=TEMDEG,%VP.CAG=CAGIRE

(4c) np->ap np :: $. NI GEM=41 G E T, S E E=%ap,$. 0 iE=%np, Y%ap. N 4 k)=



95 Yoap. Lo 14 =~ 7
=>NP(AP/ap INP/np)  /*HLHe i it FEe*/

(4d) np->ap !np :: $. N EBL =258 T, $. 8 E=%ap,$. 1L iE=%np, %ap. N i 4 14 =
1)

=> NP(NP/ap INP/np) %NP.CASE=HAR  /* \ FCHEAX A4 235/

(4e) np->ap Inp :: $. AL =45 T, 8. 1E=%ap,$. 1.0 1E=%np, %ap. 0 . A 5
SERI=IELr Yoap. N 45 HE =11 7

=>NP(NP/ap INP/np) /* Rk 25 Akt 2 A8 1/

(4f) np->ap Inp = $. L= H,$. 8 T =%ap,$. 00 i =%np, %ap. A i 45 f =
1i],%ap.ccat=v

=>NP(AP/ap INP/np) /*Z% JEiE*/
(5) np->mp np
R A I AT J LRI o

(5a) np->mp np :: $. W EBEE =214 52 T, %np E BB 44 =42, %np.ccat=~r,$. /& iE=%mp,$.
HOE=%np, %mp. £ 4=%np

=>NP(MP/mp INP/np) /*—/~HH & B/
=>NP(NP/mp INP/np) /*—Htl" /= % i/

(5b) np->mp Inp : $. LR =2 TS 58 TE=%mp,Y%mp. P 45 =50, S 0 iE
=%np,%np. W LR =2 75 58 T, Yonp. i T N S 45 74 =11 7

=>NP(TP/mp INP/np)%TP.CASE=HAR  /*— L}/ \AEBUR TAE I

(5¢) np->mp Inp 1 $. A EBEER =G 2 S E TE=%mp, Y%emp. N B 45 F) =50 &, Y%omp.yx=
—,$. 10 E=%np, %np. N Bl S H =204 8

=>NP(MP/mp INP/np)%NP.CASE=HAR  /*%t F. 4 AR Kk o g/
(6) np->mcp 'np

np->mcp !np ::$. A B &5 H =41 & E 8. 58 i =%mcep,%mcep.ccat=m,$. L i
=%np,%np. A 4 1= .11, %np.ccat=~q

=>NP(MCP/mcp INP/np)/* ——+—{t&d*/
(7) np->np np

(7a) np->np Inp == $.NIBLE R =415 e T, 0 iE=%%np,$. B iE=%Np, % %np.E
43=No,%np. P #1 45 Fg = B35 kL 4 2 1, %np.ccat=~r,%np. }1 00 i .ccat=n, % %np. P & 45 # =
N4 €, %%np.ccat=~q

=> NP(NP/np INP//np)%NP.CASE=HAR  /*4: [H {44 K2 ks st s/

(7b) np->np Inp :: $. KL= G, S 0 iE=%%Np,$. & 1E=%np,%np. ] B 45 14
=Hi4 € T, %np.ccat=~r,%%np. N & 4t =k 4 e



=> NP(NP/np INP//np)%NP.CASE=HAR /*{1 S AHLLEANE B N T 5L
YL 3 K> ¥

(7c) np->np np = $. M EBEE = H,$. D E=%%Np,$. /E TE=%np,%np. A 1 45 R =15
4, %np.ccat=~r,%%np. P ¥ 4k K =i

=> NP(NP/np INP//np)%NP.CASE=HAR /*3{ j1. FgE 2k
(7d) np->np Inp =:$. AR =R 5 E 8. D TE=%%np,$. & 1E=%np, %np. A #4514 =
L]
=> NP(NP/np INP//np) %NP.CASE=HAR /*4{;=&*/
(8) np->sp np
(8a) np->sp Inp : $. L= G e, 8. LiE=%np,$. & E=%sp, %np. H 45 14 =
JEH
=> NP(NP/sp INP/np)%NP.CASE=HAR

(8b) np->sp Inp = $. AR LE =52 FF/*$. 0 iE=%np,$. 7B 1E=%sp, Y%sp. N il 45 i =1
*/

=> NP(OP/sp INP/np) /175 i [ */

(8¢) np->sp Inp :: $. N EBLE =415 52 T, %np. 45 #)=~EEA, Y%onp.ccat=~r,$. F1.[r 1%
=%np,$. E iH=%sp, IF %sp. N34 =111, %sp.ccat=s THEN %sp.J5 %=/ ENDIF

=> NP(NP/sp INP/np) %NP.CASE=HAR /*A R UM 4 AR/
=> NP(OP/sp INP/np) %OP.CASE=HAR [N ] e/
|| IF Y%sp. N #B 45 =103, Y%np. N i 45 1) =111, %np.yx=i FALSE
=> NP(NP/sp INP/np) %NP.CASE=HAR  /*[EAMLaSBIE IR bRk
|| Yosp. A 3B 25 k=201, Y%enp. N 55 45 ) =BRi], Y%enp.yx= il
=> NP(NP/sp) %NP.CASE=HAR /* J§it#s */
(9) np->tp Inp

(9a) np->tp Inp :: $. N ERLHG=3E P, Yotp. W B =€ 1, Y%tp. J5 44 =2, Y%onp. T L 2=~}
], %np.ccat=~r,$.H1.0riE=%np,$. & iE=%tp

=> NP(NP/tp INP/np) %NP.CASE=HAR /*A @ B/

(9b) np->tp Inp :: $. A EE LG K= T, Yetp. I EBEEF=FIN,$. H 0 iE=%np, Y%onp. P &5 45 14
=5, S E=%tp

=> NP(OP/tp INP/np)
(10) np->m a Inp

np->m a Inp :: $. N FBEE =415 52 1, Y%em B0 FR=R T, %a. 5 11=1,8. H 0 E=%np,$.
EE=%a, IF %np. N 845 #)=211 THEN %a.JE 21 1-2¢=aa ENDIF

=> NP(M/m A/a INP/np) /* Wi ki */



(11) np->c Inp

np->c Inp ::$. NIt =9" e, $.1EF 15y =%c,$ A iEHi=Yes,$==%c @1F N, $!1=%np
@YY @IFERE @&, %c.yx=~M~i~H~~t T~H A, %c.#k=Yes, IF
%C.yx=TC 1| NE| A8, %np.iE <=5 THEN %np.i& <=5, $!=%np @i&’< ENDIF

=> NP(INP/np S/c)  IFIiefhadl Bigfta A

(12) np->dj Inp

np->dj Inp =:$. WL =21, $. 52 1E=%d),$. T L iE=%np, %np. P 4 45 F4 =ik
=>NP(AP/dj INP/np) /*4 H 45 (A #1232 30

(13) np->dp Inp

np->dp Inp =:$. N4 k=E H,$. € 1E=%dp,$. Ly =%np,%np. N &5 4% k=i
=>NP(AP/dp INP/np)/* i HLF*/

Rz Ab, A LR JURF R R .

(14) np->np lap

np->np lap :: $. AL =2, 8.8 TE=%np,$. F L iE=%ap, %ap.yx=Fa & | 1 45 | 5E|
LA, Yonp. i =2 [0] | BRAK, Yoap. P4 #4) = FR ]

=>NP(NP/np INP/ap)%NP.CASE=HAR  /*ELik[A14: */
=>NP(NP/np !AP/ap)%NP.CASE=HAR /it &8 [FR %4 SR KAk R

SRR “$ b ih=%ap” — UM EIEE, AR E R DR AR A, T
IR “Yoap.yx=Fa € | 45 | e 2247 MR ARG WHEAT 75, R o
TEE AT LGS LA BB Ay, |7 Roig “BERR” o

(15) np->ap !mp

np->ap !mp :: $. WIS =4 4 T, %mp. i 2=~ AN E LS. E 1E=%ap,$. 0 iE
=%mp

=>NP(OP/ap INP/mp) /* % )\Us4E AN RARE RS E RS BRI HAE ¥/
=>TP(TP/ap ITP/mp)  /*il 21 HAE*/
(16) np->np v

np->np v $. TSR =G A8 L, %np. R E=Yes, %v. i 4 =5, %v. K =~n$. & il
=%np,$. 1 E=%V, %np. A Fi 45 k= 2] | A

=>NP(NP/np IN/v) %NP.CASE=HAR SRR TE A
(17) np->np vp

(17a) np->np vp = $.NEREERI=2 T, %vp. il % =12,$. 2 1E=%np,$. T Ly iE=%vp, %np.
P 8 &5 ) = F 3]

=>NP(NP/np INP/vp)%NP.CASE=HAR /T34



(17b) np->np Ivp = $. XL =52 H, Y%vp.yx=1i#%,$. 58 iE=%np, %np.yx= 7 W
=>NP(NP/np INP/vp)  /* A%/

(17¢) np->np vp 2 $. N FBEEHI=58 1, %vp.yx=HE N\, $. & F=%np,%np.yx=4 /.
=>NP(NP/np INP/vp)%NP.CASE=HAR/* 4\l 3 A */

(18) np->ap !vp

np->ap vp = $. NS =205 .08 1E=%ap,$. L iE=%vp, Y%ap. N4 =117,
%vp. B4 F =~id T~ 1, %vp.yx=~ &, %vp. i HK=~n~p~d,%vp. 75 1i=~1, IF %vp.B¥ F
=/, %ap. .0 i .cpcat=~pp THEN %ap. .0iF. Z4=/% ENDIF /S5 SEPRif4h &
*/

=>VP(NP/ap \VP/vp ) %NP.CASE=0GH /* <<X}[EH KM 551> < &> */
=>NP(NP/ap INP/vp) %NP.CASE=HAR I ANV *
(19) np->sp lvp

np->sp vp : $. AL R=RE G e, Y%sp. JE =02, Y%ovp. T 4=, 8. 8 TE=%sp, $. 0 i
=%vp, IF %sp. N4 f=H1d],%sp.ccat=r FALSE  /*~IX HL T.{F*/

=>NP(NP/sp INP/vp)%NP.CASE=HAR  /*4=[E{t3*/
(20) np->d Ivp

np->d Ivp 1 $. A ERGTHI=HRE 5 E 1, %d. A 4 =12,8. 8 1 =%d,$. 0 it =%vp, %d. N 4
Hay=FLir]

=>NP(O/d INP/vp)  /*Xf AR/

EAWYIRE, BEd (14) — (200 JLSEJiBER LRI, e HAmiEsE. A
BEPRTEE A H NN, — DN ROE D RER N AZ R I L B RS ORFF — 2, Lt 44 1 R v
I3 FH 44 1) 78 2 TR gy, Bl R TR A Bl ] SR PO S @) e XM AR SR U T A
(41, (HSEERTE DU AN AR 28— o DUE P A £ 1 2D RESR IR AL B 73 I DI RER L AN AR
O, IXAERRAE BV AZAE SV .
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Mongolian transformation rules for Chinese noun phrases (np)

Badma-odsar

(Mongolian Language Institute, Academy of Mongolian Studies ,Inner Mongolia University,Huhhot
010021,China )

Abstract: Based on the research on Chinese nouns(n), noun phrases(np) and Mongolian translation of
Chinese n,np,the author tries to formalize the Mongolian transformation rules for Chinese np,which are
practically needed in Chinese-Mongolian MT studies,the grammar and translation problems,concerning
the transformation of np,are also talked in this paper.The author carries out his experiment on the

government-work-report corpus and “Darhan”Chinese-Mongolian translation system.

Key words: Chinese,Mongolian,noun,noun phrases, transformation rules, Chinese- Mongolian MT
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